
TAVRIARot ve Rotilleri / Steering And Suspension Parts
Запасные Части Для Подвески И Руля Управления

Rot ve Rotilleri / Steering And Suspension Parts
Запасные Части Для Подвески И Руля Управления

394

TA
VR

IA

Product Catalogue 2013                                                                                                                                                                   www.asmetal.com

Asmetal products fit to mentioned trademarks and OE numbers in this catalogue.

17TA01

10TA0110 10TA0110

17TA00

SOL / LEFT / ЛЕВАЯ SAĞ / RIGHT / ПРАВАЯ

-
-
-

Rotil
Ball Joint
Шаровая опора

Rotbaşı  
Tie Rod End
Наконечник рулевой тяги

Rotbaşı  
Tie Rod End
Наконечник рулевой тяги

M16x1,5 Sağ Diş
M16x1,5 RHT
М16х1,5 Правая Резьба

M16x1,5 Sol Diş
M16x1,5 LHT
М16х1,5 Левая Резьба

1102-2304024A

-

-

	 As Metal Ref.	 Açıklama	 Orijinal Kod
	 Код  As Metal	 Description  /  Разъяснение	 Original Number  /  Оригинальный Код

10TA0110

17TA00

17TA01

Tavria	


